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Part A
Answer nll questions.
Each question carries % weightage.

loop 12 rotating Ihulthj-lﬂlﬂilmnuﬂ:ﬁﬂﬂnﬂnﬁnﬂu, Whim®. The voltage induced
n the loop is due to :
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7. In one time canstant, the current through an RL circuit decreases by :

a) 69 %. (b) 14,14 %
() 63 %, (d) 70.7 %.
8. At resonance the power factor of an LCR circuit is |
(a) 0.707. (b) L.
“{e) Zero, (d) Infinity.
9. Anideal constant current source has resistance.
10, An inductor may store energy in :
(n) Electric field. (b} Itscoils.
(¢} Magnetic field. (d) Both electric and magnetic fields.

11. A pulse of electromagnetic radiation can be produced by :
{a)  Acceleration of a charge.
(b)  Charge moving with steady velocity.
(e} Slow varintion of current in a conductor.
(d) All the above.
12. A choke is used as a resistor in :

(n), die, cireuit. (b)  me ecireuit
le] me and d.e. circuit. (d) Reetifior
Part B
Answer all questions,

Each question carries 1 weightage,
13. State Biot - Savart's law,

14. Explain what is meant by u lossy diolectric 7
15.  Explain polurization of EM waves,
16, Define operator § nnd show It grophically,
17, What aro eloctromagnetio waves ? Givg o«
18, What is refrn h#u?mmmhuuh '
d : " ihl.-. r'l
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pefine virtual ampere and virtual yolp D 11652
:Z_ What are the characteristies of an A.L. Bine way

bl = ave ?

4 What is displacement current 2

(8 x 1= 9 weightage)

Answer any five guestions,
Each question carries 9 weig
Dbinin Maxwell's Equﬂﬁﬂmfw m'-E;EI:: EH ﬁn]:dﬂ

f. Obtain the Helmholtz equations or veotor wave equations i the case of & Jossy disloctric.

#. Acondenser of eapacity 0.6 MF is discharged through a resistance of 10 megolims. Find the time

taken for half the charge on the condenser (o escape,
g5, A rectangular coil of area 5 'x 10-% m? and 60 turns in pivoted about one of its vertical sides,
‘The coil is in a radial horizontal field of 90 gauss. What is the tensional constant of the hair
“spring connected to the coil if a current of 0.2 Ma produces an angular deflection of 18 degrees

(1 pauss = 1074T).

B, Asolenoid of length 0.5 m. has four layers of winding 350 turns each. The radius of the lower layer
is 1.4 cm. Caleulate the magnitude of B () Near the centre of the solenaid, (b) Near the cnds

(e} outside the solenoid, When a current of 6.0 Amp flows ? kg = 4% «1077.
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